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General Mathematics (New)

) g™ (Fresh)
Note: Time allowed for Section'~ B and Section ~C is 2 Hours and 40 minutes, . S
o o : Section - B - © Marks: 36
Q-il . Attemptany NINE parts. Each part carries FOUR marks. . . ’ o
B ¥ On a rainy day, 6% of the students could not come te. school. If the total number of students in the
~ school is 1360, How many students were present on that day?
2. .. Inwhat ratlo 52 be increased to become 81 : i : ) ' :
3. 1t took Haadya-25 days to solve-150 sums of mathematics by_worklrkq' oné hour.daily during
siimmer vacation. For how long, she will have.to work daily to complete 240 sums in 30 days.

T }\/I\ssuming the time taken for éolvin‘%a sum remalris the same) -

4, 'haujreen”pald Rs.4890 as Zakat. She had Rs.50000 cash and some jewsllery. Find the value of

or jewellery.” .~ o - -

A person I£¥( behind assets worth Rs, 336,830 on his death. A debt of Rs. 140,000 was payable by
him to a bank. Remaining amount was distributed among his widow, mother, father and two

-~ daughters in the ratio of%_.: —;- % % Find the share of each. , ) '
A watch was sold at Rs.582 bg suffering = loss of 3%. Find its cost price. - e
Ainee and Masyam started a business with the investment of Rs.8000 and Rs.6000 respectively.
At the end of the year, they earned a profit of Rs.2800. Find the share of each in profit.
Jamil.opened a foreign.currency account in US dollars. If he has a total sum of $600. Then compute
the protit per month at the rate of 10% and.convert the profit in PKRs. (1.US Dollar = Rs.1 4(3.

- Saima bought a P-4 computer system.on sale for Rs.20000 and paid a total of Rs.21,600. How -
much sale fax did she pay. Also ind the tax rate, . ’ ) ’

10. A worker is given Rs.120 a day. if he worked on Sunday he would be given Rs,220. Calculate his
monthly income. . . . .
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11, Simplify with the help of the laws of expopent. (F](W](F)
12. ...Find the value of x if logsx = 4 o . . X ‘
e Section~C : Marks: 24
_Note : Attempt'any THREE questions. All questions carry equal marks.
- Qil - -Simplify with the help of logarithm: (86.2)% x (37.37)
Qv Insert four arithmetic means betwesn ~12and 13.
QY ifthe arlthmetlp\mean between two numbers is 8 and (positive) geometric mean is /60, Find the numbers.
o Ifx= (12,34} andy = (6,678} then wrte & function from x to y which s neither one—onenoronto;” <.
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